


                                                                                           
   


        
        AM-III (Laplace Transform)

         
Q.1.
(a)
Find the Laplace transform of f(t), where f(t), where f(t) is defined as :
               (5)




f(t) = t
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(b)
If 
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      (3)


Obtain L [f(t)].

            (c)       Find 
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                                                      (5)
Q.2.
(a)
Find L { ( t Sinh 2t )2 }







      (3)

(b)        If 
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            (d)
Find L { t4 sinh 2t cosh 2t } and hence L { t4 sinh t cosh t }


                  (3)
Q.3.
(a)
Find Laplace Transforms of  :







      (6)



(i)  Sin4 t
(ii)  
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Q.4.
(a)
Find 
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(c)
(i)
Find L { cosh4 t }
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(ii)
Prove that : 
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Q.5.
(a)
Find 
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(b)

State and first shifting property of Laplace transforms. Hence find

      (5)




L-1 { e-t sin 3t cos t }.


(c)
(i)
Using the Laplace transform evaluate 
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(ii)
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Q.6.
(a)
(i)
Find L { ( t Sinh 2t)2 }
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(ii)
Find Laplace Transforms of   Sin24 t
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(iii)
Find Laplace Transforms of  
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(b)




(ii)
Find Laplace-Transforms of following functions : 
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(iii)
Find Laplace-Transforms of following functions : 
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(iv)
Find Laplace-Transforms of following functions : 
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(c)
(i)
If 
[image: image18.wmf]ò

¥

-

=

a

-

a

+

0

t

2

8

3

dt

)

t

(

cos

)

t

(

sin

,

e

 find ‘(’, using Laplace-Transform.
      (4)



(ii)
Find 
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(iii)
If 
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Q.7.
(a)
(i)
Find Laplace-Transforms of the following functions :


      (6)



(a)  
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(ii)
If 
[image: image22.wmf]{

}

ú

û

ù

ê

ë

é

+

+

=

2

2

2

)

b

s

(

a

s

log

)

t

(

f

L

 find f(t). Also find L { f(4t) }


      (5)


(b)
(i)
If 
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(ii)
Evaluate 
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(c)
(i)
Find  L { sin5 t }
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(ii)
Find 
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Q 8 (a) Evaluate [image: image28.png]
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       (b) Evaluate [image: image32.png]
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(d) Evaluate 
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Q 9 (a) If 
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              (b) Find Laplace Transforms of  :







      (6)



(i)  Sin4 t
(ii)  
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           (c)   Find  L { ( t Sinh 2t )2 }
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